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Multiplicera med tio befogenheter (antal saknas)

namn:

8,626 x

7,325 %

5,211 x

5,385 x

7,819 x

3,494 x

2,926 x

10,036 x

8,372 %

4,421 x

= 8626

=73.25

=521.1

= 5385

=78.19

=34.94

=29.26

= 10036

= 837.2

= 442.1

10, 305 x

7,27 x

Datum:

=103.05

2,087 x

6,407 x

7,11 x

2,525 x

7,358 X

3,19 x

3,553 x

5,016 x
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=727

=20.87

= 6407

=71.1

=25.25

=75.8

=319

= 3553

=501.6

Poéng:



https://www.snowmath.com

o @ Multiplicera med tio befogenheter (antal saknas)

namn: Datum: Poiing:
8,626 x 1000 = 8626 10,305 x 10 = 103.05
7,325 x 10 =73.25 7,27 x 100 = 727
5,211 x 100 = 521.1 2,087 x 10 =20.87
5,385 x 1000 = 5385 6,407 x 1000 = 6407
7,819 x 10 = 78.19 7,11 x10="71.1
3,494 x 10 = 34.94 2,525 x 10 =25.25
2,926 x 10 =29.26 7,58 x 10 =175.8
10, 036 x 1000 = 10036 3,19 x 100 =319
8,372 x 100 = 837.2 3,553 x 1000 = 3553
4,421 x 100 = 442.1 5,016 x 100 = 501.6
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